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QUESTION 1

A pair of SAN-attached servers will be clustered using host clustering, which of the following should the storage
administrator do to support that configuration? 

A. Volumes should be mapped to one server and then the second server will provide redundancy 

B. Shared volumes should be mapped to both servers via a single storage interface. 

C. Storage volumes from separate storage arrays should be mapped to each server via separate fabrics. 

D. Shared volumes should be mapped to both servers via multiple storage interfaces. 

Correct Answer: D 

 

QUESTION 2

A new storage array is being cabled into a rack. The array has dual controllers, each disk tray has dual power supplies,
and there are two in-rack PDUs (C and D). Which of the following is the BEST method for hooking up power? 

A. Connect controller A\\'s PSUs to PDU C, controller B\\'s PSUs to D, alternate drive trays between PDUs C and D. 

B. Connect all drive tray PSUs to C and all controller PDUs to D. 

C. Connect both controller\\'s PSUs to C and all drive tray PSUs to D. 

D. Split all PSU connections between C and D equally. 

Correct Answer: D 

 

QUESTION 3

Which of the following disk drives is MOST common in a SAN? 

A. IPI 

B. EIDE 

C. FC 

D. IDE 

Correct Answer: C 

 

QUESTION 4

A SAN administrator has been advised that access to manage storage and switching devices has been changed to a
different VLAN for security reasons. The administrator cannot log into one storage system from the management
workstation. Which of the following is the MOST likely cause of this issue? 
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A. Incorrect firewall settings 

B. Jumbo frames not supported 

C. Incorrect NIC configuration 

D. Zoning misconfiguration 

Correct Answer: A 

 

QUESTION 5

A storage administrator is receiving reports that nightly backups are impacting system performance during the beginning
of the business day. All servers are backed up via the network to a backup server that writes directly to tape. Network
administrators indicate there is plenty ofbandwidth to the backup server even when the system slows down. Which of
the following can be implemented to BEST speed up backups? 

A. Install a disk-to-tape solution 

B. Install a faster network link to the backup server 

C. Increase the number of tapes available 

D. Add a second backup server 

Correct Answer: A 
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